


Example 4 http:/ /www,voutube.com/watchAv=9sMX It QjHk}

A cvlindrical punch of radius R is used to perforate a hole in a metal plate of thickness
f. 1 Thay 18 the maximum shear stress that the metal will sustamn belore breaking. what
is the minimum force P,,;, that must be applied on the punch in order to pertorate the
paper?
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The material below is loaded until it reaches a stress equal to 30 ksi, which corresponds to a strain equal to

. After unloading, the material has permanent strain equals to

a) 0.003, 0
b) 0.002,0
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